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AN m it hiE 8
x* 2 =2 & H a4 X 8% (1) ISTE] Z1{B
NP> 60 ~ 140 1,350 10,000 5,000
O—yvY2og)/)\ 200 1,713
J~xOo—-vo8)CEUD 1,400 1,818 1,767
= 2,950
/N i) hiE 8
* = =2 & v 4 X S FeE() =iE Z1{B
<H/( 2,100 12,500 2,300
N7 50 ~ 190 130 15,000 3,000
ey AN 28 ~ 35 40 5,000 3,500
=P 38 ~ 60 70 6,500 6,000
O—yvog)\ 140 1,770 1,606
J~O—vou)/)X 40 1,666
ZIRUD 130 936 600
HIOFADROD 60 607
INTILAAL DR D 400 1,039
= 3,110
plis iz 7
x =2 =2 & H a4 X 8% =18 FAK Z1{B
YUAH 2.0E% 470 | 25,000 12,000 7,000
2.5E% 14,000 12,000 8,000
3.0E% 9,000 7,000 5,000
3.5E% 7,000 6,000 5,000
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